Areraifere

¥ (x+a)(x+b)=x%2+(a+Db)x+ab
% (a+b):=a*+b*+2ab ————— (x)

=a’+b?=(a+b)?—2ab

ot () = (x4 Y -2

% (a—b)? =a’®+b%—2ab ————— )
= a’+ b?=(a—b)?+ 2ab

ort ()= (-3 42

% (a+b)2+ (a—b)? =2(a?+b? [+ (X +H)]

__ (a+b)*+(a-Db)?
2

= a’ + b?

% (a+b)*—(a—b)* =4ab [+ (X)— )]
=(a+b)? = (a—b)? + 4ab

__ (a+b)?—(a-b)*?

=(a—b)? = (a+b)? —4ab =ab 2




% (a+b+c)=a*+b*+c*+ 2ab+ 2bc + 2ca
=a’+b*+c*=(a+b+c)*—2(ab+ bc + ca)
Z(a+b)2+b+c)?+(c+a)>=2(@a*+b?>+c?+ab+bc+ca)

T G el

¥ (x+a)(x+b)(x+c)=x3+(a+b+c)x?+ (ab + bc + ca)x + abc
%(a+ b)3 =a®+ 3a®b + 3ab? + b3
= a’+ b3 = (a+b)®—3ab(a + b)

%(a—b)3 =a®—3a?b + 3ab? — b3
= a3 — b3 = (a—b)?+ 3ab(a — b)

% ad+ b3+ c¢3—3abc=(a+b+c)(a*+b*+c?—ab— bc— ca)

5a3+b3+c3—3abc=%(a+b+c){(a—b)2+(b—c)2+(c—a)2}

Z@a=-bB+b-c)¥+(c-a)d=3@=->b)(b—-c)(c—a)

AP g

% a2 —b? = (a+b)(a—D)

% a3+ b3 = (a+b)(a?—ab +b?)
% a3 —b3 = (a—b)(a?+ab +b?)



Middile term:

% x2 4 qx + r AT T [aEd F900 20T, &7 A q MAME @w 12 TeHmes (a8 b
)P TS A A AAE A QT x GF TR q (q= a+b) GF TN | G2 T I A 1
(r=axb)aq AN |

sx’+qgx+r=x*+(a+b)x+ab=(x+a)(x+b)

1) g>0,r>02C (x + a)(x + b)
2) q<0,r>02 (x —a)(x — b)
3) q>0,r<0 20 a €@ b € WK B + ¢ (ROH -2

% px? 4+ qgx +r = acx? + (bc + ad)x + bd = (ax + b)(cx + d)
gx3+px?+qgx+r=x3+ (a+b+c)x*+ (ab + bc + ca)x + abc
=((x+a)(x+b)(x+c)

T Jo1 e @

sx?+(a+b)x+ab=(x+a)(x+b) =0T R FE@TIx=-a,x =-b |

c

% ax?+bx+c=0 99 T o ¢ p TA,> a+3=_§ 4R axp==
. et x2 — (a + B)x + ap=0

—b ++/b%—4ac
2a

@ ax?+bx +c = 0 ANFACR O oI X =

GIRGEASIRE:

& ax> + bx + ¢ A (x-m) M =T O F4?

QLT (x-m) (F G G0 A 7R @7 FACO AT IO QIFCET AL i G2

Ol ( ax® 4 bx + ¢ ) O AT AMFF(ax3) AT =W | 949 @ G 2K @F I TRCR GG OINHCE
T | Q32 AT ©fey GF (76 I RN FA00 2 | QeI TG Ol I (@0 2(A |



3t P(x) = axd + bx + ¢
P(X) & x — m Bl ©tst 34,

@L+ amx +am2+b
ax3— amx2

amx2 +bx + ¢
amx? — am?2x
(am?+b)x+c¢
(am? + b) x —(am? +b)m
SHeE P(m) 999w am3+bm +c¢

SIZS (Exr xpeongnss/ ndices)

Fa™ = aXaxaxXaxa... (n MAYF a A7 @I )
% a® = (Something)® = 1 g = —

1 1
XiX\/E=a5 ﬁnazan
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& Yam = (Ya)" = a

% (ab)™ =a™. b™
a\™m a™

“(3) =im

g am .aTl — am+n

X C;—:?IT (a™ +a™) =™ ™"

£X zlﬁ a'=a"q = .'.a=n\/am =qan

%M a* = a? W ~x =y %M a™ = p™ W .~ a=b



~9([[AMY (legerdms)

% log,n & “ a TofG =15 n”#Iel 27 |

& BY GAIgS Y TN AR 1 % ¢ ATGS ALY AMfamw (712
& AR el fofg 10 €91 271 log,, M @RS log M (& @RI |
& aX=n T x = logyn

= x = log,n WT a*=n

%108 any pase 1 =1og 1 =10 v %log, 0 =
2*log, 10 =log 10 =1
xlog,a =1
1
xlog, b = ogna

= log, b X log,a =1
= log, b X log,c Xlog.a =1

*log, M = log, M X log, b

tlog, M = &M

logp a
¥ log, M" =rlog, M
% log,(MN) = log, M + log, N

Zxlog, (%) = log, M —log, N
log, \Vm = % log, m
tglogx” = plogx®

Gy = eV l0ge”



YA SAT—AN B2
(Simelbanaons |Linear Equeiion)

weere Fif¥ ACeR W 7 GFET Foroie o 20 AU RS AF@ TR AP 0 |

A2 QAT T SArFE MCQ TR AT |, AR (F0a MCQ @ 5166 Answer Choice @ x € y
qF BTSS! W (e AR | U AT (AS] I 9 x 8 y qF W AT eA ¥fB AP
@ (@ GHHCS( AT SWCoFFIF© A7) A 1 G (A (T NCAF & AU #7271 @
TR & AN W7 2@ G2 TAG @ FAeaee I @ 17 27 [, 30 @ W we
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@ @3

X+byy+ci =0
25X b,y H¢, =0

X Y o
bics—byc;  Clapy—cpa;  ajbp—ay by

e e
ax + b
cx +/d

ax + by =

cg\_+ dy =
a
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a1 (Sewies / [Progression):

AYRS Gl (The Arithmetic Series)

GE ANGT €18 1(First Term) +24+344+ overeereeerenene. N(Last Term)
93 qIF AYFY 9\ (Common Difference) =Second term - first Term = 1

O M- 7
& Al (Number of Terms) = P
CFIR) o177+ 22 =W +1
% B (Sum of the Series) = X AT = n(nz )

(4T #4212 77
% % (Avarage of the Series) = —ntl

2 2
CZITW/ RS 18

a+ (a+d) + (a+2d) + (@+3d)+.ceerreeeree e n
QLI 9RIfe |

22 9 = a

ALY TEF d = g *W - 2T 7m

?M A = n

~ 49 ©¥ n “M (TF “M) =a+(n—1)d

R *m—1

1

> n=
4IAI9 n O AW ANB =§{2a+ (n—1)d}

WG /AT Qi

atar+arl+ard...........ar

QLI @il 4RI,

oy 71 = a

feom oM
WW‘TW‘*’H@r=ﬁW%
M AP = n

Qi n oy 7w = g X r 1



% r>0 A 1 R FAAS ¢ GG T ALY 2,

rn—1

r—1

4 n oW AmA e S, = a X

<03 1 IR FAATS ¢ TGP A O (1 -9 )AL 20,

1-rn

1-r

4" n ©F o e S, = a X

& Y -1<r<1 T , U9 n—oo (e

a
4 n ©F *itad e S, = —
o ray
(PR SFEQH LI
I Qioiwet i T = S,
4IAITS T A2 = n
A n ¥ °M = (19 °m
B 14243444, n
BSn =n(n+1)
2

2n-1)
X 1434547+ i n oy 4"

41T W
=S, = (A2 = n?
%12 4+224+3%24+4%2+ e m?

= Sy =+ X n(n-1)(2n+1)

1) +224+2342% 4+ 2t

>S5, =2"-1

513 +23 433443 % eei o3

n?(n+1)>? nn+1)
- 5, - O ey,



5% ees (R W& A *FwS! *M(Hidden / Next Term) frefs

%1, 4,9, 16, = 25[+ 12,22 ,3%2,42 52
%1,9,25, 49, 81 ... = 121[+1%,3%,5%,7%,92 112 fareme 524y 2]
%936 81 144 ... = 225[+x? ,(x +3)% ,(x + 6)?]

% 81, 27, .. 3,1 =>9[+3%33 32,31,39]

% 1,2 3,5 8,13, 21, 34.... = 55[+ @ &9 W = ©F &7 46 AWM A |
% 8,11, 17, 29, 53,.... = 101 [-8, 8+(11-8),11+(17-11), ...]

% 1, 3, 6, 10, 15, 21,.... = 28 [+ 1,(1+2),(3+3),(6+4), (10+5)]

% 2, 8,18, 32,.... = 50 [+ 2,(2+6),(8+6+4),(18+6+4+4), (32+6+4+4+4)]

X 2, 4,8, 14, 22, 32.... =44 [ 2,(2+2),(4+2+2),(8+2+2+2), (14+2+2+2+2)]

%0, 5,12, 21, 32..... = 45 [+ 0,(0+5),(5+5+2),(12+5+2+2), (21+5+2+2+2)]

% 13, 17, 25, 41,..... = 73 [+ 13,(13+2%),(17+2°),(25+2%), (41+2°)]
% 5 7,11, 19,..... =235 [+ 5,(54+21)(7+2%),(11+2%),(19+2%)]
%4, 6,10,18,... = 34 [+ 4,(4+21)(6+2°),(10+2°),(18+2")]

3,6, 4,95, 12, 6,.. = 15 [+ tutytt, = 3,4,5,6] tt, tot, = 6,9,12,15]

% 4,11, 8,19, 12,.... = 27 [+ 4,11,(t1 +4),(t2+8) (ts+4) (t4+8)]
% 27,5,25,8,23,11, 21, 14....... =19

[+ totat, = (27-2),(27-4),(27-6),(27-8) | t,tt, = (5+3),(5+6),(5+9)]



e [Py wwgsd qFis e Woe (58 Feee

%0, 9, 17, 24...35, 39, 42 ...= 30

©=1,1,2,35,8,13,21,..=> 34
©1,3,6,9,15,21,..= 28
©1,3,7,..21,31,43> 13

10,17, 25, 34, ...> 44
©11,13,17,19, ...25= 23

= 11,16, 26, 40....94 = 60
©»11,17,13,13,18,15,15,19...... =17
©x13,12,14,11,12,10,..=> 16
©13,7,11,5,9,3,7,1,..=>5

%15, 13, 12,11, 9, 9.. = 6

©»172,84,40,18,.=>7
©18,12,15,10,12,8,..=9
©19,14,17,12,15,10,13,8, 11, ...=6
©19,33,51,73,..>99
©2,11,32,65,110,..= 167
©2,3,57,11,13,..=> 17
©2,3,5,8,12,17,23, 30, ... = 38
©2,9,6,7,..554,=>18
©21,18,9,27,24,12,36, ..= 33
©24,8,16,15,5,10,9,..=3
©3,10,4,13,5,16,6,..=> 19
©3,4,7,7,15,13,31,..= 25
©3,5,9,15,23,33,..> 45

©3,6,10, 30, 35, 140, 146, ... 147
©3,7,14, 18, 36,40, 80, 84, ... = 168
©3,7,28,32,8,12,48, .... =52





